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1. A form 1 ttudent carried out the separation as shown in the set-up below:-
Salt solution
Pvaporation
dish
\ and bath
E
!
(1mk)
TUBIBERHON oo
1
(i1) Give one of its disadvantages (1mk)
Mses. a1k offuc) / only..Seltr. (o be.. ektimed b svant_escape +efhe....
s T
(iii) Name a mixture which can be separated by the set-up gbove (1mk)
..uﬁp.c)).u.m.dn.lwﬂde.jmﬁsalwkle.d.q}.t.an.. NG
2. In an experiment, ammonium chloride was heated in test-tube. A moist red litmus paper placed K %

at the mouth of test first changed blue then red. Explain these obsewatijs: - NHJ - |b w) = (3mks)

NO) detompases...on haating do. proslue, Nis  amd RO 65, 4 Nk 53 15
.lig.\‘.f.ez... Al h&nu.é&g@e&j ?f..@n.‘r!(}tqnat.m.(?s\f(&.f@. thmus._gapes
9 e, N0 s, donset, hente.. difuse. at aé\owfwte,[,hqnﬁei ..........
IO Mt DA R

...................................................................................................................................

.................................................................................................................................

.................................................................................................................................

......................................................

T
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() Using dot(.) and cross(x) draw the structure of the compound formed between X and Y (1mk)

4. The apparatus illustrated below were used to prepare and collect carbon (II) Oxide in the laboratory

C 5/‘_/,Clmc. H2S04

B

——=Carbon (1I)

Methanoic

acid

HCOOH -t
(a) State the condition necessaxy for this reaction to occur (1mk)
e veadion A0 plale. o, Yoom. dvmperature......oe. € Ay et
() Identlfy and state its role in this reaction (1mk)
oy edum l/x&(h&xuh[ Cong.: pﬂmtuml/admx&q/ Ca b, (resek. . me. Cont ).
(c) Write an equation for the reaction taking place in the flask (1Imk)

..... HCO0Hgp. ~H2SLL> (O F B0

5.Study the set-up below and answer the questions that follow: -

/Delivery tube

N

4¢—Test tube -

Tron nails—_|

=
\17V
(a) State two observations '/it would be made after one week. Explain lﬁ/ (2mks)

lronnadsdurns. \ﬂowm lm.mlh e e, X s gen. anJ N ,gp,m Tu.,x{f wWhith L bra

Yoeer st wp infie. wu )mbc waw leval. Jro 5 m&m Mfﬁ}‘ ,.rnH .......
il{g}m hes Lean VIoY Hre 7 sty %\rcn nall mueJ uP b ik

Spake of OXYG. ./

06 GO ajmua

(WY A
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Imk)
(1) Write the chemical equation of the reaction taking place in the test-tube (1mk)
AR Y! O,Zk‘2” 0. - >Z((’QO 060 J“j o
....... Cudzs
(.ﬂ(Upl d‘nb b Jf(\\\(qtb Umnﬂal Cf\w,{t! on .. y\ho@ Hale, 3mblfl,5 Wi, ,,,Jﬂ‘/d 2. rr
6. Gas P was passed over heated magnesium ribbon and hydrogen gas was collected as ¢ s?own

in the diagram below: Magneshum Fbbon

sk

(i1) Write an equation of the reaction that takes place in the combustion tube (1mk)

Mf)b) 4 &’\1053 ..................... Z.MﬁOE).’?ZH&(@ ..................................................

(iii) State one pr: autlon necessa at thee d of thxs expe ent (1mk)
“glam b frseach t Ce%vttﬁ»‘i\w WL M s bmmentsd o drive e i
WIS ik ‘[ “M ..............................................................
flg\)mr ‘\x-\/:lo: %t e ng.\..\ve&oﬂ: )n.ené*leﬁ . LS'&D{?WJ Yo prevend walex.
6wba

7.15. Ocm of ethanoic ac1d (CH3COOH) was dlssolved in water to make 500cm? of solution. Calculate the

concentration of the solution in moles per litre

(C=12,H=1, 0 = 16, density of ethan01c acid is 1.05g/cm?) (3mks)
..t&mm(%ceoﬂ) bo v

........................................................

.....................................................

.............................................

..............
.................................................................................................................................
.................................................................................................................................

................................................................................................................................

...........................................................................

................................................

! 'ge {0 /KO‘SO' |
,_‘K%CC’: ;w @\r[ t\,/ \/\'(’/ \/‘) P
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(h) Write down a balanced chemical equation for the reaction above (Imk)

(4 [.9”7,; q). { .INHH L.l.lc.g) ................. >.La U 207). *—?T\)IH}@ 1. .HJ,OLL) ...................

) my w
, dwerd 2N Aov Wyonf no stajt Symbel
9. The diagram belsw shows lchc methods for collccu% y gascs in the laboratory

(a) Name the methods A and B (1mk)

..............................................................................................................................................................................

..............................................................................................................................................................................

10.The table below gives some propeniés of gases D and E

GASES | Density Effect of H2SOuaq Effect of NaOHug
D Lighter than air | Reacts to form a salt dissolves without reacting
E Heavier than air | Not affected " | Not affected
(a) Describe how one would obtain a sample of gas E from a mixture of gases D and E (2mks)

Pass Yo enbdure .ﬁxa@h...HzgSQH.nLe..ﬂ biseths B
) dat d J) '
C@I\ME\D@ pwpmare ol ng/ Woweerd. .4 1&?\Q(rww»110,( i
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11.The table below shows pH valucs of solutions A to E
Solution |[A|B |C|D|E
pH 314 |76 |9
Which solution;
(a) Contains the largest concentration of hydroxy! jons? (Ysmk)
(b) is likely to be a solution of Aluminium chloride (Vamk)
(c) is likely to be a solution of carbo (II) oxide (Vomk)
g
(d) is likely to be a solution of magnesium chloride (imk)
................ e
12 Potassium is isotopic and has a relative atomic mass (R.A.M) of 39.5, work out the percentage abundance
of each isotope. The three isotopes are, ¥K,“K and *K (0.01%) \ ! (3mks)
395.2(31x 0t Lo 0920 H 88K 000 oy ©
|10 : i
................................ SN BN 1 X A
2160 = 392 ¥ 2999 L -toxctp3%. | o
o
3950-3999.6 2390 % ) TKzsoel
.......... —“7 T o st ot it St SRR oo vt e i e s el
............... ZEHE b
13.An ion of element Q can be represented as 2Q*"
(a) Draw the structure of the ir_ 2~ o ) (2mks)
‘ L .....C.e.fﬂ.ct..nudw..&m(m}fim.K ..........................
- Ylarred. 20w .\?..'.Wd.‘..i.dt’dvm..wim..[ﬁm.cb .....
........ Charae vt
....t/....C.....!52(..?..1.5..mmxﬁﬁnfmfxd<....(O.mK) ..........
(b) How does its ionic radius compare with its atomic radius 4/ (1mk)
............ mi¢vadtws
14.The electronic configuration for elements represented by letters A, B and C are A 2.8.6,B282 C28.1
(a) Select the element which forms;
i) A double charged cation.....{2..... .
(1) A double charged cation & .......................................................................... (Imk)

Doter | Edwine .
ARCRPCL Y NV M Or
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(11) a soluble carbonate......... C .................................................................................... i

(b) Which clement has the shortest atomic radius

..............................
----------------------------------- ‘.L.----------.-n.............-n---..-u......................

J_QJXLG_QIM_AMM_J_LJ.g[jHﬁ Jo cbtain (mks)
[umchlozde as 4)}}75&@ nesh o 'rﬁldw

m%& sssidue of CaCls bebvuren ,h)b’w@%u 2o
7&“‘1\5 G{Avdlum Chledde,.. J{}W

..........................
.......................................................................

...............................
...............................................................................................

.................................
..................................................................................................

16. 0.28g of iron burns in air to form Iron (1) oxide. Calculate the mass of Iron (1) oxide formed

(0=16, Fe=56)

L
Ak -%) (= O T

..............................................................

...............
....................
.............................................................................................

.........................................

.................................................................................................................

17. 20.0cm> of NaOH solution containing 8.0gdm™ were required for complete neutralization
of 0.118g of a dibasic acid. Calculate the Relative Molecular Mass (R.M. M) of the acid.

(Na=23, 0=16, H=1)

.........................................................................

Lol == :
................ [ O e TR
................... \:00 l

............................................................................................................................

.............................................................................................................................
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ressure. Find the volume the
(3mks)

T18.A fixed mase of  certain gns has a volume 96 em? at 69 *C and 700 mmHg P

£as would occupy at 8.0.p.

b= 300mmny. .. /Tr ’—:r"‘/\ ...........................................................
\f..?.'.‘ikwi.....j ........... Teordb. = ThoX Vo Y. | R e
LoeblarzzamK | 212 233 / ........... [

19. A student reacted Silver Nitrate and Barium Chloride solutions to prepare two salts.

(1) Write an equation for the reaction that took place (1mk)
.%“uﬂgi?j AO.eo A Ba(‘.“@);@ég_@‘“@ .....................
S Lt By R e T e Rt ) RO
(i) Write lhe?om'c equZu)orzn f?:ll;r? rgz*;tionam m (1mk)
X -
........ 5(:@*0&3)*-""_7A5u@)
(1mk)

(iii) Name the method above used in preparing salts mentioned.

....Yxe.del’mﬂox\/ Aouble, Beto poision. e [

20. (a)Define grahams law of diffusion. (1 mark)

chabes et s 1. of Afpuion o5 fpun.cnss. . 4 9as 0 Ny ...
.Qmew%{ onal 2o K. Sguast rvﬁ%lﬁ&am@ 0%, (onsfank. .\@memtu.a..m?...()ﬁ&m-. .....

(b)60cm?® of oxygen gas diffused through a porous partition in 50 seconds. How long would it take for
60cm® of Sulphur (IV) oxide gas to diffuse through the same partition under the same partition under

itions? (S =32.0,0=16.0). 2 marks
the same condmo)rj (S | 3ﬁ 0 ) %X‘Z'; 2\(3’2 (2 marks)
Sl (MM, T R o 5,207 L O -—————

Teo Y MMsq . — %a;&ol;(é}’)mlsec .I.’.._’:‘%.x.% ...........................
Bosec YR "/4/ Rtog, oA JIAASR oo eevvrncfiissinnnemiessssiinsunsensasansansnnsnenasnssnas

...................................................

Sese | Rose -
N e O\-Q.cé/*.e VY W O P
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() Electrial conductivity.
" teed nu') a7 mellen and. Agneows eg) Hak / sdudlonfoeen. ..o

(B)Write ain equation to ghow the formula of X,

oo RN oty 2NN

phosphoric acid.

3

22 Calenlate the number of hydrogen ions in 5em® of 0.5M

L=6.0x 10, )
(L= 60X 107) bl b kg = B o)

.................................................................. 7.

..Mx'lfs.q..MJ‘zMﬂi ‘ e T e
oo 7
......................... _&5:000&5)1)&3‘/”“”5)“01/
|

o0 e

..... Mok xele. 12 3 BP0 M Y
.\r
- MJ 0s.9§ .“.Lm}. Z0:0D25X220:00F5.md4. ...

.....................................................

......................................................................

23.Excess carbon (II) oxide gas was passed over heated sample of an oxide of iron. Study it and answer the questions
below using data provided below.

w .

to fume chamber

\

dry COg)

Mass of empty dish =10.98 g

Mass of empty dish + oxide of iron = 13.14g

Mass of empty dish + Residue = 12.66g

Determine the simplest formula of the oxide of iron (3 marks)

(Fe=56, 0=16)

A : :
........................................ S 'ﬂr/’\,{/

...............................................

............... TF"?.*W". P03 IS
------------------------------------------------------------------ “,»-o‘osﬂp ------p,w‘oz.'f R

-----------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------

OAunCJU :
l 1/\( \7(, @h C’; Or/ I\/i
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4.Study the experiment set-up helow and answer the questions that follow.

Delivery tube

Test tube B

Lime water

State the observations made after heating in
1 mark)

ff).]ﬁi&lm;d..wm.miu...m%mMﬁﬁ-tmngc@um_m%.

be
\N&S{v\(mfg .....................................................................................................

(11)Test tube B. (1 mark)
..... Whide prectonale, WasJotmed
(iii) Write the reaction that take place in tube B (1 mark)

...... C«&{zﬂ)l(a,@)rw%@———-———>CaCOB@JrH,,D@

25.Study the information in the table below and answer the questions that follow.
The letters do not represent the actual symbols of the elements.

Element Electrical conductivity Ductility Action of water

A Good Good No reaction

B . Good Poor No reaction

c . ' Good Good Reacts
Select the element which is C
(a)Likely to be in group II of the periodic table....... 57 veviiiiiiinini e (1mark)
(b)Could be used to make electric cables.............. A ........................................................ (1 mark)
(c)Likely to be graphite............coviiiinniid Fevees g ....................................................... (1 mark)
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26 The following two teste were eatried out on chlorine water contained in two test tubes. ‘
(MA piece of blue Nlower wae dropped into the firet tube. Explain why the flower was bleached. (2 marks)
S P O P PRSPPI P RSNV R RRCLLLLTTETIPPRPPRPPS

. ~/. A /” | 3
Chlerd e gird (Ned) .é.j{.&.nﬁ(@g (Ao form alernt Gyagn, ij?r n. Cambine it
Yo blw Hower defo oursmA i/ Denches e blae Mowgr 1
v Trrrreriralassanansasnang o gl Y vana ) e A

o

AMoCker) y 4oy ——> 21 Cley) + (0 ‘['3( :
(M) The second test tabe was corked and exposed (o sunlight. After a few days it was found to contain a’g;s
that rekindled a glowing splint. Write an equation for the reaction which produced the gas. (Imarks)

.................................................

............................................................................

.........................................
.........................................................................................

...........................................................................................................

27.A wooden splint glowing on both ends was fixed as shown in the diagram the experiment was
carried out as indicated.

Potassium ) L
chlorate \@ _
A

Potassium chlorate
? E_’" manganese
,m\ ) ( ,ﬂ\ (IV) oxide

Heat Heat

(2)What will be observed on the glowing splint end A and B if heating is done at the same time. (1 mark)

Kfldo ..WD.QJ.m..&Sf]l'n.’c..&.ff.ﬁ%kﬂ. . %Qn‘*“ﬂ@‘*A

.....................................................

...................................................................................................................................

(b)Explain the observation in (a) above. (1 mark)

Mangneeddox ...MJ?...&\A..A.Mﬂ\lds’x..ﬂnd...).hmwﬁ&.‘}f\t.W“l&..@{:..({.ﬂ@nigmﬁt?!\...ef...
..gﬁ%\um.(}»\vf.&k.ﬁ[ﬂd.u{ﬂm ABMBEN ..o

(c)One of the products in this experimentis usefuto rocket scientist when going into space. State one ways
in which the scientist used this product. (1 mark)

‘/.1.“.9,\MJ...9.Y&6enz .fﬂ?ﬁl...”&@d..‘.‘A...&f‘?ﬁm...&\.‘kﬁl ............................................
4...\?\@&....9xbﬂcn...M.......r.e.erha‘uj....tsia.of.m.rz...u.n.o,...Qxig@mfln.%(a...&gm...

: - g /L\ Ld’lﬁgfl‘\’t'l@.’ ‘
A / ﬁ?ﬁ\/sf'rgz'ﬂ%ﬂ mg?zn;&éé’gﬁ T(J\i/slkg& P
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